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QUESTION 1

The official CIW Web site has an IP address of 72.44.192.233. Which technology allows Web users to enter the URL
www.ClWcert/u/ecl,com in the browser address bar to access the site, instead of having to remember and enter the IP
address? 

A. SSL 

B. DNS 

C. HTTP 

D. NNTP 

Correct Answer: B 

 

QUESTION 2

Which of the following is a disadvantage of implementing a Bring Your Own Device (BYOD) policy in a company? 

A. Increased cost for licensing mobile applications 

B. Configuring the corporate e-mail server to work with mobile devices 

C. Inability to control access to company data if the device is stolen or lost 

D. Providing training for employees on how to use mobile devices with company applications 

Correct Answer: C 

 

QUESTION 3

Selena needs to send a message to her manager providing all the details of a business proposal. The idea they have
discussed is critical to the business. The project is considered urgent and confidential. Selena wants to get this outline
to her manager as quickly as possible. What would be the most appropriate way Selena could use an SMS (text)
message in relation to this proposal? 

A. To send a useful summary of the proposal to her manager so that the manager has it available during a presentation 

B. To alert her manager that she has sent the proposal via e-mail so her manager can view the proposal as soon as
possible 

C. To provide a detailed outline of the proposal so that her manager can refer to it as he travels 

D. To send the proposal as an attachment to the text message 

Correct Answer: B 

 

QUESTION 4
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Which choice describes a correct order of precedence for implementing CSS? 

A. Inline styles override all other styles. 

B. External styles override all other styles. 

C. Internal (embedded) styles override inline styles. 

D. External styles override internal (embedded) styles. 

Correct Answer: A 

 

QUESTION 5

What is the difference between a computer virus and a worm? 

A. A virus can replicate by itself, whereas a worm requires user action to replicate. 

B. A worm can replicate by itself, whereas a virus requires user action to replicate. 

C. A worm can deposit an illicit server, whereas a virus cannot. 

D. A virus can deposit an illicit server, whereas a worm cannot. 

Correct Answer: B 
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